1. Giai cac phuong trinh sau:

(a) sinz + cosz + 2sinzcosx — 1 =0
b) 6(sinz — cosz) —sinzcosz — 6 =0

d) sin®x +cos®z =1

(e

(f) sin®z + cos® 2 = sin 22 + sinx + cosz

3sin 2z

(b)
(c) sin® + cos®z = 2(sinx + cosz) — 1
(d)

)

1+sin®x 4 cos®z =

2. Giai cac phuong trinh sau:
(a) sinx — sin3x 4+ 2sinbx = 0
(b) cos ?x =cos’z
(c) 8cos? (x + %) = cos 3x
(d) sin®x 4+ cosdz =1 — %sin 2x

(e) 2cos®x +sinz + 1 = 2sin’z
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(f) 8sinz = -
cosr sinx

1 — cos® z

tany = ————

(g) 1 —sin®z

3. Giai cac phuong trinh sau:
(a) (2cos2x + 1)(sin2zx — cos2x + 1) = 2(cosz + sinx)
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(b) cos®x + cos? 2z + cos? 3z + cos? 4z = =

2
(¢) 2cos3x(2cos2x+1) =1
(d) sin2z + cos2zx + 3sinz —cosz —2 =10

4. Giai cac phuong trinh sau:
(a) sin2z — cos2x + 3sinz —cosx — 1 =0

(1 + sinx + cos 2x) sin (m—i— %) 1

(b) 1+ tanz - Ecosw

(c) (sin2x + cos2z)cosz + 2cos2x —sinz =0

(d) sin® x — v/3cos® r = sinz cos? z — /3sin? x cos x
(e) 2sinz(1l + cos2x) +sin2x =1+ 2cosw

(1-— 2sin3:) ST _ /3
(14 2sinz)(1 —sinx)
1+sin2 2
(2) + SIH:— foj;(;os - V/2sin x sin 2z
(h) sin2zcosz + sinx cosz = cos2x + sinx + cosx
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